S ; ; e 6. () FERMETR ARG » AEHREASEEK R R,
SRR 1] 25 R4 4 43R AR KIS KEREE AT, (6%)

Z : 4 2 g (b) BFTSENE LG HI RERM o R BER inverse heat? (4%)
mAr@R ¢ 3302 ARFHR R T AR R AT 5
B s s KA (B

(grain boundary precipitate)
7. You have a metal with large grain size and precipitate B*\

F£1aE #H1 B’ in the grain boundary, the microstructure is showed

in the right. You are requested to improve its
1 0
FEER: strength. Please show two kinds of methods. (10%)

LA IR 510 K20 % > #£100 4 -

2. Rb3) 78 » AR RBERREERBIEFBELELERAL - i o

3. RUMERMARLEREZKEMNES  BAKTF 4 - - {2 Penblersaslipl 220) ,

(b) Partial dislocation in the FCC lattice (3%)

(¢) 31 BCC &5 (101)4Y plane density(4%)
(d) FCC SHGHYATE 2% (3%)

(e) SRPUTHMRLZBIGVEFEE (3%)

(f) what are kink and jog of dislocation? (4%)

(a) 5HaHA Pearlite [EARGERETERATHEAE] (6%)
(b) WS =58E SIERERY Pearlite (4%)

® @%EWTEHEQ%JFE HORREHAT (4%) 9.  Please draw and indicate the microstructure in the end of each cooling path (A, B, C) in
(b) RSEEEEAEEE R BA T (3%)

the TTT curve. (10%)
(c) FeAfrfifch > JXITHH SR K A% 2E A IR FHEEAT - B (IR BA T 3%)

800 [— ; i . . ;
k \ Eutectoid temperature
700 Example:
aA (¢ H HAE(free energy) FVERBEEHT © (IR T RINBHIBREZ 4N » MRHE—45 20 E
TRPE T BV R E R Y ZE (LB (vacancy TFAE » TRE[SG 7S 58 5 MERIAHT S8 ] 600
(6%) > FEafiHA vacancy fEIEEAIEHEE A (TREBES? (4%) -
500
FCC @& iR T AN BCC @R » SR B R 10 i jg 400 |
# T (FCORYB MR ST = i AEALER(BCC) h AR ? (B8R T- B £%=0.25nm ~ BRJE g and 10% o phase
T EH&R 0.15nm) (10%) 90% f phase
200
What are and how to get these diffusivity 00
(a) D*: self-diffusivity (3%) :
(b) D: inter-diffusion coefficient (3%) ol
(c) D, Dy: intrinsic diffusivity (4%) Time, in seconds



